1.Let D be a set of sets of natural numbers. A set of natural numbers belongs to D if and only if it is definable by a finite number of words in English. For example {3} is in D, for “the set whose only member is the natural number three” is a statement that defines a set of natural numbers in ten words.What is the cardinality of D? Prove your answer.
2. 
a. In the proof of the Schroder Bernstein Theorem why could we not just define our function h to be f restricted to C0 and g inverse otherwise? Explain where the proof breaks down.


b. Show that the set of functions from omega to 2 is dominated by the set of real numbers
3. p.151 of Enderton,  #16

